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—.1. =2 TFEFER T =5TF/NE-E R 2. 2500000,32500000 3. 10 4. 70,50
5.120 6.97819
—.7.C 8B 9.B 10.C
=.11.9x 72 x 125
=0 x8x9x125
=(9%x9)x(8x125)
=81 x 1000
= 81000
12. 199999 + 29999 + 3999 + 499 + 59
= (199999 + 1) + (29999 + 1) + (3999 + 1) + (499 + 1) + (59 + 1) - 5
= 200000 + 30000 + 4000 + 500 + 60 — 5
= 234560 - 5
= 234555
13. 641 x 82 = 52562
14. AR 22 =130°, 22+ £3=180°, /.2 + 4 = 180°, Lk /3 =180° - 130° = 50°; £ 4 =
180° — 130° = 50°; MR /L1=28,/1+ £3+ 25=180°, IfLL 25 = 180 — 50° — 28° =
102°
15. 252 AME— 250 —FPEIAT 4. 194 x 15 = 29103194 x 25 = 48503194 x 35 = 6790; 194 x
45 = 8730
M. 16. FALEAFE 1850 A, LK FA 244 1640 A
17. B PIFREDL -
(45 +38) x 5 + 42 = 457(FK )k (45 + 38) x 5 — 42 = 373(FK)
18. RRAAmiiz.150 + 5 =30000);
R Az 2% .80 + 2 = 40(00);
INR RS 2 .50 TG,
JrUA, R R s i, RELZHRK R4 ,58 + 5= 11 3,00 ZH 1 IRR %1 ik
HVNR S
iE%%:150 x 11 + 80 + 50 = 1780(JC)
F 19, BFEANME— 4n SIE U JE PO N & A PO BORRFR Y 2 £, IE AR TR R R
F)hREIFAE = (2x3 x4 x5 ) x2 =240,
E(4)H/NEF R =180 + 2 + 3 + 5 = 6;
s H A B AR/NRI R B 1, B UIHNE 3 A /INE] R A IO E G 45 R IR R A A
E ) REFIE = (2+1) x3x4x5=180,
E(4)h/NRIF % =180+ (1+1) +3+:5=6
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